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EDUCATION
PAPER—II

Note : This paper contains fifty (50) objective-type questions, each question carrying

10.

two (2) marks. Attempt all of them.

Aurobindo’s views on education give importance to :
(A) Religion (B) Science (C) Politics (D) Skills

In Education who emphasized the idea of ‘Education through productive work” ?
(A) Tagore (B) Gandhi (C) Aurobindo (D) Vivekanand

The Principle of Back to Nature in Education was given by :
(A) Shri Aurobindo (B) Vivekanand (C) Rousseau (D) Dewey

Emile was written by :
(A) Plato (B) Rousseau (C) Neitzsche (D) Satre

Which philosopher in the following list is not an existentialist ?
(A) Kirkegard (B) Heidegar (C) Jean Paul Satre (D) Kant

According to Koran education is compulsory for :
(A) All men (B) All men and women
(C) All women (D) None of the above

Which philosophy of Education believes in the “punishment from natural
consequences.”

(A) Naturalism (B) Realism (C) Idealism (D) Marxism

Pragmatism believes in :
(A) Permanent values (B) Changing values
(C) Perennial values (D) Social values

Analytical school of Philosophy was propounded by :
(A) Theodor Brameld (B) Vitjenstine
(C) Bertrand Russell (D) R.S. Piters

Which philosophy believes in the following three philosophical principles -
momentariness, universal suffering and soullessness.

(A) Jainism (B) Islam (C) Buddhism (D) Hinduism

D—0906 2
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11.

12.

13.

14.

15.

16.

17.

18.

The meaning of Prabbajja ceremony is :
(A) admission to Buddhist monastery (B) Thread ceremony
(C) Ceremony to perform yajna (D) Admission to gurukulas

Which statements are true for Tagore and Rousseau both ?

(i) both are naturalists.

(i) both established institutions.

(iii) both gave importance to bookish education.

(iv) both believed in the freedom and identity of the individuals.
(A) (i), (ii) and (iii) are correct (B) (i) and (iv) are correct
(C) (i), (ii) and (iv) are correct (D) (iii) and (iv) are correct

Which statements are true to both Hindu and Buddhist philosophies ?
i)  both give importance to Guru.
ii)  both believe in salvation.

(

(

(iii) both accept the immortality of soul.

(iv) both give importance to meditation.

(A) (i), (ii) and (iv) are correct (B) (ii) and (iv) are correct

(C) (i), (iii) and (iv) are correct (D) (ii), (iii) and (iv) are correct

Who said, “A teacher can never truly teach unless he is still learning himself. A lamp
can never light another lamp unless it continues to burn its own flame” ?

(A) Gandhi (B) Aurobindo (C) Tagore (D) Vivekananda

Democratic Socialism combines:

(A) Social equality with political democracy

(B) Capitalism with political democracy

(C) Economic equality with capitalism

(D) Political democracy with economic democracy

Socialization is a process of :
(A) Learning to be a member of society (B) Being and Becoming
(C) Changing asocial into social (D) Social changes

The study of social stratification in education is meant for :

(A) Consideration of the prevailing status of social equity and opportunity.
(B) Creating a society without any type of stratum.

(C) Encouraging upward mobility in the society.

(D) The study of imbalances in the society.

To meet the purposes of modernizing democratic and socialistic society like India it is
more important to have :

(A) An economic revolution (B) A social revolution
(C) A revolution in education (D) An Industrial revolution

D—0906 4



11.

12.

13.

14.

15.

16.

17.

18.

YIS GHRIE 1 3719 |
(A) ditg foer ¥ worwm (B) WS GURE
(C) o9 1 9ANE (D) TEFA | g

SR e &6 <A & faq e @ fo e gl § 2

() <M e ¥ |

(ii) S TEAT T TATIAT T |

(iii) 1 A forarsit faren 1 mee faam)

(iv) THI A wdAal adn A o1 Teae | favary fe@mn |

(A) (i), (ii) 9o (iii) T 1 (B) (i) 991 (iv) W €1
() (i), (i) T (iv) Tl T (D) (iii) 71 (iv) T&

fog wd aitg < Ml & fore frea o & 9 @ AT wE § 2

(i) ST 7% T TS I WHHR FW © |

(i) o g fova@ w ¥ |

(i) ST STTHT T T H favamg w1 |

(iv) <Ml I S He 2 |

(A) (), (i) 3R (iv) & 1 (B) (i) 3R (iv) W&l T
(C) (), (iii) 3R (iv) T g1 (D) (i), (iii) 3R (iv) & &1

fRe hgl— ' T frereh T Toh arEdfos &1 9 T2 el Hehdl STal dh 98 o 91E Wl | Th a1
T U 1 T Ik Ll STl Fehdl STl qF I ST Al T el Stetrar et |

(A) T (B) o=t (C) TR (D) faasm<
STk HHTSTEE SIS @ :

(A) QIS GHFAT 3R Aofash Toldst (B)  Usiiang 3fR Ist-ifdeh gomme=

(C)  emfefer TmaT 3R Yefiang (D) TsTHfdes Ferrdst 3R enfefer werd=t
YT STh I i Tfha &

(A) UM & G99 o1 TiEq & fed (B) ‘BT SIR'E M HT
(C) THS-TU& &l I a1 (D) | IRad i

Toren o QTSI TR A1 TN

(A) THISTe =g o ISR STadd i Feda feafq & e 5 o & fad &
(B) Tordl off e & TR @ fea gomt fmior & ford §

(C) THIS § SeaTTHT Tiaeiieral i Ficaned & & fad 7|

(D) TEN H STl T A FH & e 7

Y TG o GHSIEIE! THSEH HRA & 32941 i T ¥ STE9TF ¢ :
(A) U 3Tl shif (B) Ue WIS it
(C) Aferh shfa (D)  eireifirsh shif

D—0906 5 P.T.O.



19.

20.

21.

22.

23.

24.

25.

Existentialism could not become very popular because :
(A) it was based on old principles (B) it was impractical
(C) it was not different from pragmatism (D) it was based on strict principles

Culture in its proper sense is :

(A) civilized behaviour of educated mass.

(B) complex whole of whatever men achieved as a member of society.
(C) sophistications in life style.

(D) change in the set up of society.

Education as sub system of the society :

(A) Brings changes in the society and makes it modern.

(B) Creates rift between educated and uneducated in the society.
(C) Dominates the society

(D) Accepts dominance of the society.

The role of home in education is :

(A) To help child in acquisition of knowledge.

(B) To interfere in the functioning of school.

(C) To accept education as a value and to vitalize its spirit.
(D) To provide assistance and co-operation to school.

Which one is not a National value ?
(A) Freedom of speech (B)  Social justice
(C) Sectarian faith (D) Fraternity

Which of the following is NOT the social aim of education ?
(A) Education for social service

(B) Education for the perfection of the individual

(C) Education for citizenship

(D) Education for social efficiency

Match List I with List II
List I List I1

(a) Universal Brotherhood (i)  Spencer
(b)  Scientific Education (i) Gandhi
(c) Social Education (iii) Tagore
(d) Vardha Scheme of Education (iv) Vivekananda
(v)  John Dewey
(@ () (o) (d)
(A) @ (@) @) ()
B) (Gv) @) (v) (i)
Q) @i @@ Gv) (D)
(D) @) (Gv) @) (v)
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Pick out the need which has not been included in Maslow’s ‘B’ needs :
(A) Creative (B) Aesthetic
(C) Enlightenment (D) Alienation

Which of the following is not associated with Freudian Psychology ?
(A) Eras (B) Thantos (C) Libido (D) Archetype

Pick out the term which has not been used by Piaget :
(A) Assimilation (B) Organization (C) Schema (D) Sublimation

The name of the psychologist associated with IQ scam is :
(A) Alfred Binet (B) Theodore Simon
(C) Cyril Ludowic Burt (D) Howard Gardner

Indicate the statement which is NOT correct :

(A) Ability to produce language is different from the actual linguistic production.

(B)  All natural languages of the World have the same underlying structure and
principles.

(C) Semantic development is slower than the syntactic development.

(D) Environment does not have any role in language acquisition.

Which of the following may NOT be identified through Sociometry ?

(A) Gifted (B) Isolated (C) Rejected (D) Most liked
Which of the following theories is NOT a personality theory ?

(A) Intrapsychic theory (B) Type theories

(C) Trait theory (D) System theory

Operant conditioning mainly emphasises on the role of :

(A) the teacher (B) the learning material

(C) the reinforcement (D) the environment

Good learning depends upon :
(A) the teacher (B) active interest of the pupil
(C) active teaching methods (D) Judicious use of teaching aids

Participant observation method is used in :
(A) Experimental Research (B) Ethnographic Studies
(C) Historical Research (D) Ex-post-facto Research

The standard error of measurement is :

(A) an index of the error in that estimate.

(B) an error related to the error in the measurement tool.
(C) an error of the standard deviation.

(D) an error the standardized test.
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38.

39.

40.

41.

42.

43.

Who said “adolescence is a period of storm and stress” ?
(A) Elizabeth Hurlock (B) DPiaget
(C) Freud (D) George Staley Hall

Which one of the following is correct ?

(A) When extreme values are not known one can use Median.
(B) The mid point on the scales of measurements is Mean.

(C) The most frequently occurred score is Standard deviation.
(D) The most popular measures of Central tendency is mode.

Difference between two means is significant at 0.01 level of significance. It means
that :

(A) the value of t-ratio is equal to 1.96 (B) the value of t-ratio exceeds 2.58
(C) the value of t-ratio is 2.36 (D) the value of t-ratio is 2.48

Which of the following is NOT a correct statement ?
(A) A test can be reliable without being valid.

(B) A test cannot be valid without being reliable.
(C) A test can be reliable and valid both.

(D) A test can be valid without being reliable.

A researcher intends to ascertain the significance of difference between two means of
two randomly selected independent samples on a particular test. He should
compute :

(A) Chi-square value

(B) t-ratio

(C) Product moment coefficient of correlation
(D) Kurtosis

The formula for the computation of skewness is :

3(median- mean)
SD

(A) SK = (B) SK

(C) SK (D) SK

Which one of the following is not a non-parametric test :
(A) The chi-square test (B) The median test
(C) The sign test (D) The t-test

D—0906 10
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44.

45.

46.

Which of the following correlation is more suitable for item-analysis :
(A) Biserial (B) Point-bi serial
(C) Tetrachoric (D) Phi-coefficient

The section research is mainly helpful to :

(A) apply the result to the entire population
(B) develop the principles

(C) formulate plans and policies

(D) improve educational practice

Direction (Q.No. 46 - 50) : Read the following passage and answer the questions
that follow :

Disadvantaged children are sometimes treated as part of a category of “poor
kids” “lousy students”, or some similar grouping. Disadvantaged children are especially
vulnerable to this labeling effect. With nothing in their background to make them
expect success in school, the teacher is easily perceived as carrying the familiar message
of failure. Sometimes it appears that a silent deal is made - you don’t bother me, and I
won’t bother you - and the disadvantaged child sits quietly in the back of the room and
learns nothing, as expected. Teachers must make a special effort to break away from
such self-fulfilling prophecies. Although not necessarily true for their entire life situation,
disadvantaged children almost invariably have poor self-concepts in relation to school.
Because of their outlook and their values and habits, they very easily appear to be a
threat to what the teacher is trying to accomplish. This leads easily to the teacher
taking immediate steps that in effect knock down the self-concept of the child. Teachers
should avoid such negative attacks and instead, find ways of building the much needed
positive self-concept. The successes you have with disadvantaged children will probably
be outnumbered by those cases where you feel you have made no progress. This in no
way negates the importance of the success. The teacher must consistently, repeatedly
and with patience offer the disadvantaged child the opportunity to succeed in school
and accept failure on his or her part just as the child must learn to accept his or her
failures. But failure must not lead to giving up, neither for the student nor for the
teacher. It is probably very rare for a teacher to compare one child with another with
malicious intent, but it is very common for teachers to compare children either
intentionally or unintentionally. The result of such comparisons for the disadvantaged
child is often a feeling of inferiority, embarrassment, jealousy, bitterness or resentment.
The child fails to see the teacher’s positive intent of encouragement and providing a
goal to work for and instead sees only the negative connotations of being compared
with other children.

The disadvantaged children are not motivated to learn because :
(A) their I. Qis less.

(B) it is taken for granted that they will not succeed.

(C) they sit on the last benches.

(D) failure is their destiny.
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47. The disadvantaged group has poor self concept because :
(A) they are failures in class.
(B) they sit silently in class.
(C) they face similar situation in life.
(

D) itis difficult to assess their abilities.

48. The main cause of failure of disadvantaged children is due to :
(A) non-availability of suitable methods
(B) lack of patience in teachers.
(C) negative self-concept.
(D) lack of proper opportunities.

49. The best way to educate disadvantaged group of children is by :
(A) having good infrastructure.
(B) positive attitude and patience for children.
(C) upliftment of self-concept in children.
(

D) avoiding punishment.

50. Disadvantaged children should not be compared with other children because it :
(A) reflects the bias attitude of teachers.
(B) has a negative aim
(C) results in the feeling of inferiority and self-pity in children.
(

D) has a malicious intention.
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